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Do Section 2 4

33. Previous Answers LarTrig10 2 4.054 (3882549)

Im not sure what | did wrong

Reply | Move to Answered

Write the trigonometric expression as an algebraic expression.
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Do Section 2.5

12. Previous Answers LarTrig10 2.5.501 XP. (3882582)

Im not sure what | did wrong (

Reply | Move to Answered

Use the half-angle formulas to simplify the expression.
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28. Previous Answers LarTrnig10 2 4. 042 Ml (3882938)

How do | submit this answer, if it's correct? | used the formula cos(u)cos(v)+sin(u)sin(v)=. | got (4/5){15/17)+(-3/5)(8/17)= 36/136 and then | simplified it to 8/34

Reply This is a good one for class. | don’t remember one quite like this, but we have the techniques to tackle it
Quick Notes®
Find the exact value of the trigonometric expression given that sin(u) = — g and cos(v) = i—, where 0 < v < /2.
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24#s35,42and 2.5#s 5,6

35. + 0/ points

Write the trigonometric expression as an algebraic expression.
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42.  + 0M points LarTrig

Find all solutions of the equation in the interval [0, 2m). (Enter your answers as a comma-separated list.)
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5. + 0/1 points

LarTrig10 2.5.011. [3882832]
Solve the equation. (Find all solutions of the equation in the interval [0, 2m). Enter your answers as a comma-separated list.)
4 sin(4x) = —8 sin(2x)
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6. + 0/1points LarTrig10 2.5.013. [3882628]

Solve the equation. (Find all solutions of the equation in the interval [0, 2m). Enter your answers as a comma-separated list.)

7 tan(2x) — 7 cot(x) = D
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